= o
N & o & AF & H A A
20198 & =04 LBHSIH A2 H S
AN AZHSD
M WHO A2 E Al JIEXH
Sl AYTA BH Y L 2Y (S &2)
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
AL S 12,413,534 10,883,544 1,529,990
s 200,000
J| 387,010
= 443,012
Al 11,383,512
WHO A2 & Al D18 744,490 595,400 149,090
J| 165,090
Al 579,400
AAEA M OOHE 2 29 139,400 152,400 A 13,000
WHO A2 & Al =& 19,400 19,400 0
201 Let24E] 11,000 11,000 0
01 At 22l 8,200 8,200 0
O1 eet=ZHl 4,700
PAIZA RS2 S2W WA
50,000& x10¢! 500
D= -2 HALEA Zg - AZXY &I S
=1l 100,000 »321 43| 1,200
DAHLEA 222 AH 10,0002 *300H 3,000
O3 2d=¢ 3,500
DHLZA UNERH &
70,0003 #2501 %23 3,500
02 =24l 2,800 2,800 0
O1 3322 ¥ HA 2,800
DWHO MEHZE QA2 ZAIHY A3 H| (5258)
800,000& x13] 800
DUst2A2 A2 Halbl
2,000,000& x13] 2,000
202 oddl 8,400 8,400 0
01 = LH o4 1l 8,400 8,400 0
OAHLZA HEFE 700,000& 123 8,400
HLZA S2AME =& 20,000 20,000 0
307 21201 A 20,000 20,000 0
02 QB AAHEX 20,000 20,000 0
OAHLZA S2AY =& 20,000,000 =14 20,000
EFANE HL2HNE 80,000 80,000 0
201 Let24d] 80,000 80,000 0
03 A2 S HI 80,000 80,000 0
ORFAE AA2NE 80,000,000& » 14l 80,000
FFAL A2 (AL =EH) 20,000 25,000 A5,000
307 glz2tol & 20,000 25,000 25,000
04 DI2HHALALSE E X 20,000 25,000 25,000




2N
X ZH -
L= B

el

AL S D
WHO H2CAl I EH
AVTA BH K2 L 2Y

5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O AL A2 L(ALEH)
20,000,000 =14 20,000
izs+ =4 340,000 343,000 A 3,000
o Z2E X& 125,000 125,000 0
307 21201 A 125,000 125,000 0
04 DIZHHALALSE E X 125,000 125,000 0
OZz2=s+ =ddl XA 125,000, 000& 14! 125,000
ZT2s+ 83 ALK& 130,000 130,000 0
307 gl2tol & 130,000 130,000 0
04 DIZHHALAISE E X 130,000 130,000 0
OmZzs=7 837 ALK
130,000, 000& 14 130,000
Is7 A2 2sEAMXA 70,000 70,000 0
201 Let4d] 70,000 70,000 0
03 A2 Z HI 70,000 70,000 0
OZ=2=s7 HIHZZHE SHAXE
70,000,000& =14 70,000
d4ad HSs7BE 29 15,000 18,000 A 3,000
307 21201 A 15,000 15,000 0
04 QIZFHALAIRH B &= 15,000 15,000 0
OFAY HE=s7HZ 2E 15,000,000 14 15,000
AN AHALUSH 265,090 100,000 165,090
J| 165,090
Al 100,000
NS AZ2el M- X 100,000 100,000 0
307 21201 A 100,000 100,000 0
02 IZtEHAHE L 100,000 100,000 0
OXEE A2l AtgH X2
100,000, 000& * 14 100,000
ZUHS100 d=HSEASHH 29 165,090 0 165,090
J| 165,090
101 @124l 110,630 0 110,630
J| 110,630
04 JIZHHNZ22XNSE+ 110,630 0 110,630
OAdL2s 2l A 113,000& 201 x260L x1. 15 67,574
J| 67,574
OMSE=Z A 72,000 #2211 %260 1. 15 43,056
J| 43,056
201 Let24d] 48,460 0 48,460
J| 48,460
01 At 22l 46,160 0 46,160




2AN: A=
M WHO H2ATZAl JIEXA
Sl AQASBH (B9 ®R)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
O1 2Bt=2H| 42,660
DHESHEHSIE+=SHl 29,685,000 *14] 29,685
Dl 29,685
>OoIEA M 6,975,000 1Al 6,975
Dl 6,975
PEEE A Y 28 6,000,000& * 14! 6,000
Dl 6,000
06 itz 3,500
> ZHH| & X} 150,000& *10& 1,500
J| 1,500
DEAAMEBIA KRS 2,000,000 =14l 2,000
Dl 2,000
02 53294l 2,300 2,300
O1222=2 % HA 2,300
DESRS 20,000& =10 200
Jl 200
DRERS 100, 000& * 14! 100
J| 100
= = 2,000,000& » 14! 2,000
Dl 2,000
202 04 d| 6,000 6,000
Dl 6,000
01 2L Y| 6,000 6,000
O=22ME100AIY E2 =& 0|
500,000& ~12& 6,000
Dl 6,000
ANOH=E 43 5,572,424 AN 179,935
Dl 221,920
< 42,012
Al 5,308,492
MEANESESY 3,877,656 255,285
NE2sEIRE 4K 1,424,410 4,450
301 Bt A= 1,424,410 4,450
V= - 22242 1,424,410 4,450
OMNE %4 U ADH 2% 22|
6,000,000& *14] 6,000
OAYE (A, 24 d95) g4 22 15,600
DEIRS 80,0003 *3 A x12& 2,880
DAMGEERS 20,0003 *3M A~ x 128 720
> 22|yl 150,000 *3 A x12€ 5,400
> S Al JEAHI 100,000 34 A~ x12& 3,600
>OoIEHY, A& 50,000 *3H A+ 128 1,800
> Xt Xkl 100, 000& *1CH 100
DEtEANEEE = 100, 000& ~1CH 100




SN ALHED
M ANMESELS
g4 dEHEsd (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
DEES(SEAE) 1,000, 0002 = 1CH 1,000
OalgE Xtes Xl 3,000,000 =14 3,000
Oa g8 RS el 377,507
PIlEe2(20, 63 16538 &)
3,317, 100& 621 x12& 238,832
PEISHY 3,317, 100& 621 23| x50/ 100 19,903
> HE S| 3,317, 100& 621 23| x60/ 100 23,884
DEESY 350,000& 60! «12& 25,200
> == 50,0003 62! «12& 3,600
> = Al 250,000& 6021 x12& 18,000
D2t 100,000& x621 12 7,200
DItEE 80,000 621 128 5,760
PINEEEZ 342,379,000 *1.5/100 5,136
DAMTHEE S 342,379,000& *1.1/100 3,767
DABALEEZ 342,379,000& *3.06/100 10,477
DEIQAEER 10,477,000% *3.245/100 340
>20HZ 342,379,000& *4.5/100 15,408
O&gE d= Al 80,000,000 » 14l 80,000
OagE d= o2l 678,348
DIIEZ(S0, 72 958 &Y)
2,330,600& %1521 x12& 419,508
DEISH 2,330,600& * 1521 x2& x50/ 100 34,959
> HE S| 2,330,600 x1521x23 x60/100 41,951
DEESY 350,000& x15Q1x12& 63,000
> ==l 50,000 1521 x12& 9,000
=]l 250,000& = 1501123 45,000
DNESBEE 613,418,000& *1.5/100 9,202
DAUAMNEEZ 613,418,000&*1.1/100 6,748
DROALEEET 613,418,000 *3.245/100 19,906
PEIRAEER 19,906,000& *7.38/100 1,470
>IADHSEER 613,418,000% *4.5/100 27,604
O=2JIE =% 400,000& x321 x12& 14,400
Ollal sdt(dz. g4, 54)
80,0003 2121 x5 53] 42,000
OXXEHH (DT, S& , =4)
80,0003 2121 x 10 23] 33,600
ONIBEEE (A S4& ,54)
60,0003 2121 x12& 15,120
O=uls z&3 15,000, 000& 14! 15,000
O3MUsa Za3 15,000, 000& 14! 15,000
Oagdg dt 234l 150,000 +«3&5 =128 5,400
O&gE dt AZXZZH|
100,000& 35 =123 3,600
O&gE Al 7,000




SN ASHSD
M ANMESELS
tel: dEHssH
SA BB O () - NRAY - HES 0l &+ o4 il
DEIAMBATHW ASIH 2,000,000 x 14! 2,000
Det=aAASAAW HAZH 3,000,000 14! 3,000
DEIAIIAAW ASIH 2,000,000 x 14! 2,000
Oagd m=t| 52,780
DEH=E(IT,S4,54) 250,000%*2121+23] 10,500
DEHES 200,000& 2121 x23| 8,400
>&ll= 200,000& 1521 %23 6,000
>T-MA= 65,000 2121 %23 2,730
D> gsts 250,000& x2121 13| 5,250
>ZIS(=4A) 200,000 521 %23] 2,000
>EI(ET) 200,000& x521 %23 2,000
>ATOIISH(FA) 300,000 521 %23 3,000
>&d st 200,000& 2121 %23 8,400
> EHOI = 150,000& » 1521 x23| 4,500
Od&cdx 2dEH 2 18,500
DAES 1,500, 000& 24 3,000
DA 1,000,000& *10X 10,000
DHEHE 500, 000& *2I4 1,000
>Es 150,000 *521 x23| 1,500
DIMRA(SIIR) 200,000& *2 L 53| 2,000
DHE 200,000& x52! 1,000
O=2adx 2 22 7,095
>2dE 200,000& 521 %23 2,000
>OE 100, 000& *4 = 23] 800
>ol S0 150,000 *50 23| 1,500
>OteA OA 15,000& »15J4 *33l 675
DA 2SS 20,0003 «5CH 23] 200
> S 8,000& 204 »12& 1,920
Osads 28EH 22 4,460
DEStAN S 150, 000 *5JH4 750
>BEd 50, 000& *3JH4 150
DUz AE 300, 0002 =34 900
>aE= 40,0002 *50H4 200
DI AE 80,000 »2H 160
>ol= 350,000& *4H4 1,400
>AEEEH 300, 0002 =34 900
Oagd &z 6,000,000& =5¢! 30,000
2N &A 290,000 290,000
307 glz2+ol & 290,000 290,000
04 DI2FSHALAIE 2 X 290,000 290,000
OHMb543 ZAToMEUHE &H
290,000,000 » 14! 290,000




AN AZHSD
M AN MsEdst
ool HEHSS4 (29l 8)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
dEHsE =43 2,163,246 1,912,411 250,835
201 £B-2d| 30,000 30,000 0
01 At 22l 30,000 30,000 0
O1 get==&Hl 30,000
>2AAFC 2FJ 04| 30,000,000& =14 30,000
307 21201 A 1,004,254 924,254 80,000
02 UAFAAFEX 624,254 624,254 0
OdZHs &4dst XA 250,000,000 =14l 250,000
OHZHMESNEXNL 2 374,254,000 * 14! 374,254
03 2AHMEE2IHIES 380,000 300,000 80,000
OM=EaAIR= el 350,000,000 =14 350,000
OM=aAR= 29| 30,000,000 =14l 30,000
308 XXIEHH SOl A 1,128,992 958, 157 170,835
08 WFJ|20UetE=x 1,128,992 958, 157 170,835
Ox .58l Msgds AN (wsFHl)
210,000,000 » 14! 210,000
Ox-38W MSANEA N (nsEH)
918,992,000 » 14! 918,992
MEHESSY 1,379,668 1,839,988 A 460,320
J| 221,920
< 42,012
Al 1,115,736
ASHEEA Nz & 2EXA 14,560 16,360 A 1,800
201 Let24E] 1,000 1,000 0
01 At 22l 1,000 1,000 0
O1 get==EH| 1,000
P2AE MsUa 23X S22 M
50,000& »20¢! 1,000
202 04l 11,760 11,760 0
01 = LH o4 1l 11,760 11,760 0
OXM=SdA gRF2 980,000& »12& 11,760
301 et d=s 1,800 3,600 A 1,800
09 HAAHIEA S 1,800 3,600 A 1,800
OMENMESXE=XH =0
50,0003 621 x3 +23| 1,800
XA & &2 e =X 55,000 55,000 0
307 2201 A 55,000 55,000 0
04 DIZHHALALSE E X 55,000 55,000 0
OZJEZXAD & EHAUS R
55,000,000& =14 55,000
PF=AMEII(H) SSE U3l M= 130,000 130,000 0




2N
X ZH -
L= B
el

A2 =S
AN E&d st
dHssd

5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 130,000 130,000 0
04 DI2HHALALSE E X 130,000 130,000 0
02019 =AIZEII(HH) S=E U3l Nz
130,000, 000& 14 130,000
A HEAUAME HSUH HE 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
02019 EFAl HEAAE MU HA
20,000,000& =14 20,000
ZRASZUMENSUHE &8 80,000 80,000 0
307 21201 A 80,000 80,000 0
04 DIZFSHALAIRI B 80,000 80,000 0
OHMzrsl A ECMEHEUH &H
80,000,000 =14l 80,000
ZEE 28 MEH=EUs &d 15,000 15,000 0
307 21201 A 15,000 15,000 0
04 QIZFHALAIH B = 15,000 15,000 0
OHM14al L& 24 dEHsH =
15,000, 000& 14! 15,000
24 s 8 X2 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 QIZFHALAIH E = 10,000 10,000 0
Ozl tha &d XA 10,000, 000& * 14 10,000
ZRESXADI(BH)HE & 3 FIIUE & X 57,000 57,000 0
307 21201 A 57,000 57,000 0
04 QIZFHALAIH B = 57,000 57,000 0
OZ2SXIADI(HH) Thal & E3l&IIUE &8
A& 57,000,000 » 14! 57,000
Dsstw Hg Ms0s i 100,000 120,000 A20,000
307 glz2tol & 100,000 120,000 A20,000
04 DIZHEHALAFRI B & 100,000 120,000 A20,000
02019 ns&w HE M=Ea H=
100,000, 000& 14! 100,000
=X MIHECIEHHE I F 35,000 35,000 0
307 glz2tol & 35,000 35,000 0
04 QIZFHALAIH 2 = 35,000 35,000 0
OHM14al 2F=Xd @ BHERIEUS =l
35,000,000 =14 35,000
FFATH EIHUAUS HE 35,000 35,000 0




A A2 A=
M ANMESELS
& MEHssd (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
307 glz2tol & 35,000 35,000 0
04 DI2HHALALSE E X 35,000 35,000 0
OHM153 FAIEH &=3HLAME JHE
35,000,000& » 14! 35,000
XA = ZAUE OHE 35,000 35,000 0
307 21201 A 35,000 35,000 0
04 CIZtHALAIHE E X 35,000 35,000 0
OHM12s FX2H 2 U K
35,000,000& =14 35,000
=X OtetENSE = 35,000 35,000 0
307 21201 A 35,000 35,000 0
04 DIZFSHALAIRI B 35,000 35,000 0
OM17al =X OtdEUE N
35,000,000% =14l 35,000
I0MEE E BFAUS HE 12,000 12,000 0
307 21201 A 12,000 12,000 0
04 QIZFHALAIH B = 12,000 12,000 0
OXM14s SMEH=E 2EE AU N
12,000, 0002 14! 12,000
XD M=0E20HE OH = 25,000 25,000 0
307 glz2tol & 25,000 25,000 0
04 QIZFHALAIH E = 25,000 25,000 0
OHM1al X142 8=0r2U3 JHA
25,000,000 » 14! 25,000
FFEXA d=2=70U2 K 35,000 35,000 0
307 glz2tol & 35,000 35,000 0
04 QIZHHALAIRI 2 X 35,000 35,000 0
OM11sl =X 8=2=72U3 Nz
35,000,000& =14l 35,000
AT d=S2Ua KA 35,000 35,000 0
307 gl2tol & 35,000 35,000 0
04 QIZFH AL AR 2 & 35,000 35,000 0
OHMosl =AM 822U N
35,000,000& =14 35,000
EFXAU M= SEUHE s72UHSE = 30,000 30,000 0
307 21201 A 30,000 30,000 0
04 DI2FSHALAIE 2 X 30,000 30,000 0
02019 &= X &2 s72U3 M=l
30,000,000% =14l 30,000
A =202 EWS JHF 8,000 8,000 0




AN AZHSD
M AN MsEdst
Sl MEUSSY CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 8,000 8,000 0
04 DI2HHALALSE E X 8,000 8,000 0
OHM1a H24t 2 0t2tEUE WA
8,000,000& » 14! 8,000
FFEXA 8= =50 BHAZUE Wz 30,000 30,000 0
307 21201 A 30,000 30,000 0
04 DIZHHALALSE E X 30,000 30,000 0
02019 FFXAH 8= =50 BHAZUE M
=l 30,000,000& =14 30,000
SEUE SaH=70UE M 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 QIZFHALAIH B = 8,000 8,000 0
02019 SEUHEY SaE=Ua M
8,000,000& 14! 8,000
AT 2R g3 E=UE = 15,000 15,000 0
307 21201 A 15,000 15,000 0
04 QIZFHALAIH B = 15,000 15,000 0
OHMI152 A=AEH 2 SEHS U3 WA
15,000, 000& 14! 15,000
AFAIEH 2R AZ=Z2H0/LHE HE 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 QIZFHALAIH E = 10,000 10,000 0
OHM108 FFAIEH ZRAEZAEZXZCH0IL S
N = 10,000, 000& * 14! 10,000
ZEFC AFU3 W=l 40,000 50,000 A 10,000
307 glz2tol & 40,000 50,000 A 10,000
04 DIZHHALALSE E X 40,000 50,000 A 10,000
02019 2EFC =03l W=
40,000,000& =14 40,000
ZEANMOI2tELS =H 5,000 5,000 0
307 gl2tol & 5,000 5,000 0
04 DIZHHALALSE E X 5,000 5,000 0
OHMegsl ZAMOtetEUH =™
5,000,000& =14 5,000
ANALHET AL B X 7,000 0 7,000
307 21201 A 7,000 0 7,000
02 LAFAAFEX 7,000 0 7,000
ONQSHT L SAL 22X &
7,000,000& 14 7,000
rZdHE 28 N 6,000 6,000 0




2N
X ZH -
L= B

el

A2 =S
AN E&d st
dHssd

- _ _ RE]

SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 6,000 6,000 0
02 QIZHA AAIE E X 6,000 6,000 0

oolzelEE 29 & 6,000,000 x14A! 6,000

AEGH| SEHUHS W= (23HAN) 2,000 2,000 0
307 2izto| A 2,000 2,000 0]
04 QIZ2tSHALALS B X 2,000 2,000 0

oA SEta MW= (=23HAN)
2,000,000& =14l 2,000
MENEXNEX s X (=24]) 81,864 128,040 N46,176
J| 40,932
Al 40,932
307 2iz2to| & 81,864 128,040 N46,176
J| 40,932
Al 40,932
02 QIZIAAAIE E X 81,864 128,040 N46,176
OMEHESXNETL &8s XA
2,274,0002 #3021 x12& 81,864
J| 40,932
Al 40,932

MEMESXNELL s N 21,150 14,584 6,566
307 2Iz2to| A 21,150 14,584 6,566
02 QIZIAAAIE E X 21,150 14,584 6,566

OMENs BT BHXIAIY A2
5,670,000 =14l 5,670
OMEE UBIXI SR BIXIALYE =&
15,480,000 » 1Al 15,480
24 HsgEs X2 (=24]) 81,864 102,432 N 20,568
J| 40,932
Al 40,932
307 2Iz2t0| & 81,864 102,432 N 20,568
J| 40,932
Al 40,932
02 DI AAIE E X 81,864 102,432 N 20,568
OWEA M=gs NE 2,274,000 32 x12& 81,864
J| 40,932
Al 40,932

HEd Hsg2s A 21,150 7,292 13,858
307 2iz2to| A 21,150 7,292 13,858
02 QIZIA AAIE E X 21,150 7,292 13,858

OMEIE HEXMX A BIXIAIY &=

5,670,000 =14l 5,670
OMEIE HEXMK A BHXIAY =2

15,480,000 = 1Al 15,480




2N
X ZH -
L= B

el

= - — SHE]|
HE - G2 (3) - NN - BES e 2
dHsgs N 4,000 4,000 0
307 gl2tol & 4,000 4,000 0
04 DI2ZHHALALSE E X 4,000 4,000 0
odxd=sgs XA 4,000,000& =14 4,000
AE=2H 0l2H XA 200,080 185,280 14,800
| 140,056
< 30,012
Al 30,012
301 L2 A= 200,080 185,280 14,800
| 140,056
< 30,012
Al 30,012
01 MEIBZE+06l= 200,080 185,280 14,800
OAZ=2H 0/ XF 200,080,000 141 200,080
J| 140,056
< 30,012
Al 30,012
gMd=sZzYy 2Y 60,000 24,000 36,000
= 12,000
Al 48,000
307 21201 A 60,000 24,000 36,000
< 12,000
Al 48,000
02 B AAHEX 60,000 24,000 36,000
OMEMSsLA A8 AF2Z  36,000,000& 14 36,000
Odalsns 29 24,000,000 » 14! 24,000
= 12,000
Al 12,000
M98 =2XY 4 2 EU3 WA 20,000 0 20,000
307 glz2+ol & 20,000 0 20,000
04 QIZFHALAIH B = 20,000 0 20,000
OM49sl S2XNS G4 ==zl N
20,000,000& » 14! 20,000
228 84 190,100 165,000 25,100
FFz02 29 NE 70,000 60,000 10,000
201 LBr2d| 10,000 10,000 0
01 At 2t 2l 10,000 10,000 0
O1 et==2Hl 10,000
PRAFZ01Z2 DAXNE HMAE 5008 10,0005 5,000
DRAFZ0/12 HAZE WA
1,000& x5,000% 5,000
307 gl & 60,000 50,000 10,000
02 It M AHE L 60,000 50,000 10,000




AN AZHSD
M AN MsEdst
el 2I2S 84 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O==012 ZHAY 60,000,000 =14 60,000
SAZASdZ 29 11,100 0 11,100
201 Lt 11,100 0 11,100
01 At 22l 11,100 0 11,100
O1 g4 11,100
DEMEZANEUZE 2AXE AH
600& *6,000% 3,600
DEAMZANSHZ SSHE HA
2,200,000 =34 6,600
DEACASHZ ZHHE(OIZE) M
30,0002 *30H 900
SHOIX 29 4,000 0 4,000
207 RO 4,000 0 4,000
02 & &HIH 2 4,000 0 4,000
Od=x2ZJZ & EHOX 2=
4,000, 000& 14! 4,000
A=IHZIIS o= 80,000 80,000 0
307 glz2+ol & 80,000 80,000 0
04 QIZFHALAIH B = 80,000 80,000 0
OHM253 EF==HMZIIHal Nz
80,000,000 » 14l 80,000
A=A ZIIHEE Oz 25,000 25,000 0
307 2I2+0 & 25,000 25,000 0
04 QIZFHALAIH E = 25,000 25,000 0
OHM158 At 2L JHAl
25,000,000 =14l 25,000
e M==s4 125,000 125,000 0
0 M=g2s XN& 55,000 55,000 0
307 gl2tol & 55,000 55,000 0
02 It HAHE L 55,000 55,000 0
OFe d2H= S4XF 25,000,000 14 25,000
OXFe MaH=s 43 K&
30,000,000 » 14 30,000
ZACEHS MEH=SUHE = 40,000 40,000 0
307 glz2+ol & 40,000 40,000 0
04 RIZFHALAIH E = 40,000 40,000 0
OHM128 LA HMQY MEMIUHE =&
40,000,000& =14 40,000
Zofel A= GAL I E 30,000 30,000 0
307 gl2tol & 30,000 30,000 0




2N
X ZH -
L= B

el

A2

=1
ASTH =&

243

5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
04 DI2HHALALSE E X 30,000 30,000 0
O&Oel A= HAF JHE 30,000,000 14 30,000
HEALE 1,677,302 2,491,472 A 814,170
< 307,000
Al 1,370,302
SENSANEES 503,312 0 503,312
BHEsS CEMS2 S=SM 503,312 0 503,312
401 A& HIZ 201 I 503,312 0 503,312
01 A& HI 470,000 0 470,000
OHEsS EEHMSZ S=SA
470,000,000 =14l 470,000
02 2feldl 30,000 0 30,000
OZeltl 30,000,000& »14! 30,000
03 Al 20 HI 3,312 0 3,312
OAIZ S THHI 3,312,000 » 14! 3,312
MEHSAEEHS 939,270 2,271,752 A 1,332,482
S 307,000
Al 632,270
STNRA 28 MEMSAE &1 100,720 100,720 0
401 Al HI K 201 I 100,720 100,720 0
01 A& tI 100,000 100,000 0
OStuSi 28 MEHSAME X (sl
100,000, 000& * 14 100,000
03 AlE 2 THHI 720 720 0
OAIE = HHI 720,000 » 14 720
HOE=2E =4 150,720 154,120 A 3,400
401 Al HIZ 201 Y] 150,720 154,120 A 3,400
01 A& HI 150,000 150,000 0
OANOIESE =LA 150,000, 000& * 14 150,000
03 Al 2 THHI 720 720 0
OAIZ S THHI 720,000 » 14! 720
AHEZE AXEL WHSA 70,630 0 70,630
S 35,000
Al 35,630
401 Al HIZ 201 I 70,630 0 70,630
< 35,000
Al 35,630
01 A& HI 70,000 0 70,000
OAHEFZE QAXZAC DHAY
70,000,000& =14 70,000
< 35,000
Al 35,000




AL HSE N
CHSAEE

=
MBS AE

s as

- _ _ RE]
SA - H .G (3AH) - MBAY - BES %Eﬁ HR=2
03 Al&E 201 Y| 630 630
OAIZ 20| 630,000 1Al 630
o2 =22 HOEESE Jls HA 50,360 50,360
401 AlEHIZL 2 0HY| 50,360 50,360
01 Al& gl 50,000 50,000
OBES HB2l HOESF Jls Ha
50,000,000 1Al 50,000
03 AlE 20| 360 360
OAlIE 20l 360, 000& x 14! 360
SROR0IZY HUAZ HESAY 100,900 100,900
o 50,000
Al 50,900
401 A& HI L E0HHI 100,900 100,900
= 50,000
Al 50,900
01 A& H| 100,000 100,000
OHYFHE0Z2E HUAX INE=AY
100,000, 000& x 14! 100,000
o 50,000
Al 50,000
03 Al 201 Y| 900 900
OA&EE 0] 900,000 =14l 900
SUNSZE USHIY Jls 2LAY 401,400 401,400
= 200,000
Al 201,400
401 AIEHIZL 2 0HY| 401,400 401,400
= 200,000
Al 201,400
01 Al&H| 400,000 400,000
A2 USERHE Jls B2 AIE
400,000,000 « 1Al 400,000
= 200,000
Al 200,000
03 AlE 21| 1,400 1,400
OAI& 20| 1,400, 000& x 14! 1,400
SH2el OFsSHsAE 21 14,000 14,000
=} 7,000
Al 7,000
401 Al HI L £ 0HHI 14,000 14,000
& 7,000
Al 7,000
01 Al& H| 14,000 14,000
OsH2el DISHsEAE &1
14,000,000 1Al 14,000




M AIHF
L

g MSAMEES
A

e MEHSALEHS (=& J)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
< 7,000
Al 7,000
S22 DR B ZETY HtEE = A 50,540 0 50,540
< 15,000
Al 35,540
401 Al HI & 28I 50,540 0 50,540
< 15,000
Al 35,540
01 A& 8l 50,000 0 50,000
OUBIUZY SHEIN Hi2s DA
50,000,000& =14 50,000
< 15,000
Al 35,000
03 AIE 2 0HHI 540 0 540
OAIE =l 540,000 » 14! 540
SUHIXNSANEES 234,720 219,720 15,000
sUXSAE X & SX2e 234,720 219,720 15,000
201 LBt2E| 34,000 19,000 15,000
01 At 22l 4,000 4,000 0
O1 et==2Hl 4,000
DsUMSAE 228 =4l
4,000,000& %14 4,000
02 8323l 30,000 15,000 15,000
O1 3322 2 MA 30,000
DSUMSAE 2323 30,000,000 14! 30,000
401 A& BIZ 201 8I 200,720 200,720 0
01 A& HI 200,000 200,000 0
OsUNdSAE X & E=
200,000,000 =14 200,000
03 A& =2 THHI 720 720 0
OAIZ 2 HHI 720,000& » 14! 720
S 2e 4,348,300 1,971,077 2,377,223
s 200,000
< 94,000
Al 4,054,300
HE3d3Xd 4,348,300 1,971,077 2,377,223
s 200,000
< 94,000
Al 4,054,300
BHEMSEHX W 07 E S5(S82d MENsSZSE 171,000 1,971,077 A 1,800,077
THAE)
201 LBH2I | 21,000 0 21,000
02 =224l 21,000 0 21,000




AN AZHSD
3 2ATLBL
@2 Ms3¥AXYE (&)
SA - BB B () - MM - BES Ol &t o San HmEET
O1 2323 2 HMA 21,000
DI Zhe| O & 3,000,000 =14 3,000
PEER= 18,000, 000& 14! 18,000
401 Al HIZ 2018 150,000 1,971,077 A 1,821,077
01 A& HI 150,000 1,966,667 21,816,667
OHHBMSHI W OFRE &= 150,000
D> =& =2l 150,000, 000& * 14! 150,000
BHEXMSEX W M402E =4 4,177,300 0 4,177,300
s 200,000
< 94,000
Al 3,883,300
401 Al HIZ 201 I 4,177,300 0 4,177,300
s 200,000
< 94,000
Al 3,883,300
01 A& HI 4,170,000 0 4,170,000
OHEMSE W X402 E =4 4,170,000
> & XI 0 2 Hl 3,500,000, 000& 14 3,500,000
> 3 Attl 670,000,000 » 14! 670,000
s 200,000
< 94,000
Al 376,000
03 Al S HHI 7,300 0 7,300
OAIZ 2 THHI 7,300,000& » 14! 7,300
HE2IAZH (A2 M=) 71,018 73,236 A2,218
AHEIH (AL M=) 37,948 39,736 A1,788
ol 2| 37,948 39,736 A1,788
101 1A bl 37,948 39,736 A1,788
01 2= 37,077 39,012 A 1,935
OAt 28 10,299& %1221 x300A| 2t 37,077
03 RIAHAZ 2B+ 871 724 147
odazz+¢ 871
DEAEMI(SUMSAE 22l)
14,512 121 x60 Al 2+ 871
Jl2d3dl (AL ds) 33,070 33,500 A 430
JlE2&l 33,070 33,500 A 430
201 YEr2 Y| 22,030 22,460 £ 430
01 At 22l 19,752 20,302 A 550
O1 Let==EH| 16,008
DEANSY I2SH(SAXL 158)
14,508, 000& 14 14,508
DEEHI EW, EE 300, 000& *5CH 1,500




2AN: A=
M HMSAHH (ALAS)
o©el: Jl2dg (A2 M=) (e &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
O5 =&t 3,744
DOt - 5422 8,000& x1321 %33 x12& 3,744
02 3524l 2,278 2,158 120
O1 2822 ¢ HMA 1,278
DRERZ 2,130& x50 128 1,278
O3 A& &l ®AXbl 1,000
> = A S XIH] 500,000& x1CH x23] 1,000
202 O B 8,040 8,040 0
01 2L Y| 8,040 8,040 0
OJlgg2s+a8uyl 420,000 *12& 5,040
OAHLEA =& S 2208l 3,000,000 x14! 3,000
203 € R =&lY| 3,000 3,000 0
04 ENSIHRF=AY| 3,000 3,000 0
ORNMS2gI2F&Y| 250,000& x12& 3,000




